Y=

5103A
Tx14x5BB
=7

51027

1/5X21X4 BB Differential Assembly

Front Assembly

8260
82608 opt
82606 opt,
82608 opt,
8260X opt

2616

8269 3x27BCS
8269G opt.
8269R opt.
8269X opt.

~

I’

2617
2.5x8 BCS

%16
8252 37 B0

> 254 BCS
- - 51200
e /3/229 & N e €0 todbas 828 )
L B %\ o L sl
( 5 = ) opt.
£ ¢ %\ y\\ ‘ ) 8062 opt. 8267
@ 9 \ A °

8080x L7
8280 opt.
8280R opt.

8269G opt.
8269R opt.
8269X opt.

2578 i
3x12B0S — '

8269
- 4mmNL 82696 opt.
8269R opt.
8269X opt.

REV 181002-R09

See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.

7 Ay =& QN



https://www.rc-hp.de/Traxxas-Cable-T-lock-vorn-8283
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-7x14x5mm-2-5103A
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-15x21x4mm-2-5102A
https://www.rc-hp.de/Traxxas-Carrier-Differential-Differential-slider-T-Lock-Gabel-8281
https://www.rc-hp.de/Traxxas-Gear-Set-Differential-output-gears-2-spider-gears-4-s-8282
https://www.rc-hp.de/navi.php?qs=trx8279
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-Schraube-25x8mm-Rundkopf-Innensechskant-6-2617
https://www.rc-hp.de/Traxxas-BALL-BEARINGS-BLACK-10X15X4-5119A
https://www.rc-hp.de/Traxxas-Radmitnehmer-12mm-hex-2-Mitnehmerpins-8269
https://www.rc-hp.de/Traxxas-Radmutter-4mm-mit-Flansch-Nylon-Locking-serrated-schwarz-8347
https://www.rc-hp.de/Traxxas-Radmutter-4mm-mit-Flansch-Nylon-Locking-serrated-schwarz-8347
https://www.rc-hp.de/Traxxas-Radmitnehmer-12mm-hex-2-Mitnehmerpins-8269
https://www.rc-hp.de/Traxxas-Schrauben-3x23mm-Rundkopf-2591
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-aussen-v-h-2-8251
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-aussen-v-h-2-8251
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-innen-vorn-l-r-2-8252
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-innen-vorn-l-r-2-8252
https://www.rc-hp.de/Traxxas-Lenkungs-Link-5x60mm-1-Draglink-5x117mm-1-Stahl-8246
https://www.rc-hp.de/Traxxas-Lenkungs-Link-5x60mm-1-Draglink-5x117mm-1-Stahl-8246
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-25x10mm-Senkschraube-2523
https://www.rc-hp.de/Traxxas-25x10mm-Senkschraube-2523
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Caster-blocks-portal-drive-l-r-kingpin-bushings-4-8232
https://www.rc-hp.de/Traxxas-Suspension-link-vorn-5x63mm-oben-Stahl-2-8244
https://www.rc-hp.de/Traxxas-Suspension-link-vorn-5x63mm-oben-Stahl-2-8244
https://www.rc-hp.de/Traxxas-3x15mm-Sechskant-Schraube-2579
https://www.rc-hp.de/Traxxas-Cable-T-lock-vorn-8283
https://www.rc-hp.de/Traxxas-Cable-T-lock-vorn-8283
https://www.rc-hp.de/Traxxas-Cable-T-lock-vorn-8283
https://www.rc-hp.de/Traxxas-Ball-bearings-black-rubber-sealed-6x13x5mm-2-5180A
https://www.rc-hp.de/Traxxas-Ball-bearings-black-rubber-sealed-6x13x5mm-2-5180A
https://www.rc-hp.de/navi.php?qs=trx8279
https://www.rc-hp.de/navi.php?qs=trx8280
https://www.rc-hp.de/Traxxas-Achs-Gehaeuse-vorn-8241
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-5x11x4mm-2-5116A
https://www.rc-hp.de/Traxxas-3x15mm-Sechskant-Schraube-2579
https://www.rc-hp.de/Traxxas-3x15mm-Sechskant-Schraube-2579
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/navi.php?qs=trx8260
https://www.rc-hp.de/navi.php?qs=trx8260
https://www.rc-hp.de/Traxxas-Suspension-link-vorn-5x100mm-oben-oder-untern-Stahl-2-8243
https://www.rc-hp.de/Traxxas-Suspension-link-vorn-5x100mm-oben-oder-untern-Stahl-2-8243
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-Achs-Montage-Set-komplett-v-h-fuer-Suspension-Links-8227
https://www.rc-hp.de/Traxxas-Achs-Montage-Set-komplett-v-h-fuer-Suspension-Links-8227
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-innen-vorn-l-r-2-8252
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-innen-vorn-l-r-2-8252
https://www.rc-hp.de/Traxxas-Ball-bearings-black-rubber-sealed-12x18x4mm-2-5120A
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-6x12x4mm-2-5117A
https://www.rc-hp.de/Traxxas-Stub-Achse-verlaengert-Portal-Drive-2-8255A
https://www.rc-hp.de/Traxxas-Radmitnehmer-12mm-hex-2-Mitnehmerpins-8269
https://www.rc-hp.de/Traxxas-Achs-Welle-vorn-links-8228
https://www.rc-hp.de/Traxxas-Achs-Welle-vorn-rechts-8229
https://www.rc-hp.de/Traxxas-Achswelle-vorn-Heavy-Duty-l-r-erfordert-8064-8060
https://www.rc-hp.de/Traxxas-Achswelle-vorn-Heavy-Duty-l-r-machined-2-8062
https://www.rc-hp.de/Traxxas-Cross-pin-2-Drive-pin-2-fuer-Rebuild-8233
https://www.rc-hp.de/Traxxas-Cross-pin-2-Drive-pin-2-fuer-Rebuild-8233
https://www.rc-hp.de/Traxxas-Portalantrieb-Input-Gear-vorn-8257
https://www.rc-hp.de/Traxxas-Portal-drive-input-gear-vorn-machined-l-r-erfordert-806-8064
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-4x10x4mm-2-5104A
https://www.rc-hp.de/Traxxas-Portaantrieb-Output-Gear-v-h-8258
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-Portalantriebs-Gehaeuse-aussen-v-h-2-8251
https://www.rc-hp.de/Traxxas-Radmitnehmer-12mm-hex-2-Mitnehmerpins-8269



